Summer Review Answer Key

Week of June 14-20
Solution: To solve, we will start with the hundreds column. The largest possible carry over from the tens place is 1, so C has to be 1. Now the problem becomes:



A



A

+    B   B   

  1   1   1

From the above equation, we can tell that the sum of B and the regrouping (carry over) from the ones places is 11. The regrouping from the ones place is either 1 or 2 (since there are only 3 digits being added to the ones column). So, B has to be 9 and the regrouping from ones place has to be 2. The original problem becomes a lot simpler. 
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1    1    1
A + A + 9 = 21, therefore, A is 6, B is 9 and C is 1. 
Week of June 21-27

Solution: Each week Pat reads 1+2=3 pages by Tuesday, 3+3=6 pages by Wednesday, 6+4=10 pages by Thursday, 10+5=15 pages by Friday, 15+6=21 pages by Saturday, and 21+7=28 pages for the whole week. 
Method 1 – In 3 weeks Pat reads 3x28= 84 pages, with 16 pages more to read. 15 of those pages (from page 85 to 99) are read by Friday, as noted above. Therefore, page 100 is read on Saturday. 

Method 2 – In 4 weeks Pat reads 28x4=112 pages, finishing on a Sunday. The last page read on Saturday was 112-7=105 and the last page read on Friday was 105-6=99. Thus page 100 was read on Saturday. 

Week of June 28 - July 4

Solution: Newton’s father is 27 years older than Newton. His father is 41 now. The next possible reversal of digits could occur when his father is in his fifties and Newton is in his twenties. That is at 52 and 25 years of age. Since the difference is still 27 years, the problem is solved. Their ages again have their digits reversed eleven years later. 

Method 2: Make a Table

	Years later
	
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11

	Newton’s age
	14
	15
	16
	17
	18
	19
	20
	21
	22
	23
	24
	25

	Father’s age
	41
	42
	43
	44
	45
	46
	47
	48
	49
	50
	51
	52


Week of July 5-11
Solution: If Mrs. Riley gave each student 3 cookies, she would have 5 more left. If she used those 5 leftover cookies and tried to give each student a total of 4 cookies, she would be short 2 cookies. That gives us the clue that there are 5 + 2 = 7 (students). 

Week of July 12–18

Solution: The price of the DVD player is 1/3 of the price of the TV. So the price of the TV is 3 times as much as the price of the DVD player. The following bar diagram illustrates that the total cost $240 is 4 times as much as the price of the DVD player. 
[image: image2.emf]
Therefore, the cost of the DVD player is $240 ÷ 4 = $60, and the cost of the TV set is $60 × 3 = $180
Week of July 19-25
[image: image3.emf]Solution: To find the total length of the bracelet, we need to find the length of the remaining bracelet. 
[image: image4.emf]The original 2 measurements help us to figure out the length of one white bead and one black bead is 8 -5 = 3 cm.
[image: image5.emf] We then break the remaining bracelet into 6 sections with 1 black and 1 white bead in each section.

Therefore, the length of the remaining bracelet is 3 * 6 = 18 cm. The total length of the bracelet is 18 + 8 = 26 cm.
Week of July 26- August 1
Solution: 3 girls can decorate 2 holiday cards in 1.5 minutes. That tells us that 6 girls can decorate 4 holiday cards in 1.5 minutes and 6 girls can decorate 8 holiday cards in 8 minutes. There are 60 / 3 = 20 of 3-minute periods in 1 hour, therefore, 6 girls can decorate 20 * 8 = 160 cards in 1 hour. 
Week of August 2-8

Solution: A number is divisible by 5 if its ones digit is 0 or 5. A number is divisible by 3 if the sum of its digit is divisible by 3. We are looking for the smallest number whose sum of digits is 18. Therefore, we should use the largest possible ones digit; 5, and the largest tens digit 9, and the largest hundreds digit; 18 – 5 – 9 =4. Therefore, the number we are looking for is 495. 
Week of August 9-15

Solution: The least common multiple of 2, 3, 5 and 6 is 30. The next time everyone will come on the same day is in 30. 
2, 4, 6, 8, 10, 12, 14, 16, 18, 20, 22, 24, 26, 28, 30
3, 6, 9, 12, 15, 18, 21, 24, 27, 30
5, 10, 15, 20, 25, 30
6, 12, 18, 24, 30
Week of August 16-22

Solution: The unit price is cheapest when bought in a box of 12. So, Kevin wants to buy as many boxes as possible. 14.75 / 2.50 = 5 remainder 2.25. Kevin can at most buy 5 boxes of 12. Kevin will then have $2.25 remaining. He wants to use the remaining money to buy as many packets of 3 as possible. 2.25/1.25 = 1 remainder 1. Kevin can at most buy 1 packet and he will have $1 remaining. He can use the remaining money to buy 2 more cards. Altogether, Kevin can at most buy 5 * 12 + 3 + 2 = 65 cards. 
Week of August 23-29

Solution: Make a chart.
[image: image1.png]1"day > 1
1* night > 1-1=0
2" day > 2

2™ night >2-1=1
3"day > 1+
3% night > 4 1
4% day >3+
4" night > 7 -
5" day > 6+

4

=11>10 -> the frog will be at the top of the well.





